Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY

Summer Examination-2019

Subject Name: Surveying

Subject Code: 2TEO3SUR1

Branch: Diploma (Civil)

Semester: 3 Date: 18/03/2019 Time: 02:30 To 05:30 Marks: 70

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

f)

9)
h)

)
K)

1)

Attempt the following questions:
Which of the following is the most convenient and portable instrument for direct
measurement of directions?
a) Prismatic compass b) Surveyor’s compass c¢) Theodolite d) Sextant
What is required to transfer points to the ground, while chaining along the sloping
ground?
a) Spirit level b) Plumb bob  ¢) Butt rod d) Pegs
Error due to imperfect adjustment of plate levels comes under error.
a) personal  b) natural  c) instrumental  d) personal and natural
What is the term used for an imaginary line on the ground joining points of equal
elevation?
a) Level line  b) Line of sight  ¢) Datum d) Contour
is the most precise instrument designed for the measurement of horizontal
and vertical angles.
a) Survey chain  b) Dumpy level c) Theodolite  d) Telescope
Which of the following is not used to represent the relative altitudes of the points
on the map?
a) Contour lines b) Hachures c¢) Shading  d) Level lines
In which of the following compass needle acts as index.
a) Prismatic compass b) Surveyor’s compass c¢) Theodolite d) Sextant
A plumbing fork is used to the plane table.
a) Focus b) Centre  c¢) Orient d) Level
Planimeter is used for measuring
a) Area  b) Volume c) Contour gradient d) Slope angle
How many types do theodolites classified?
a)2 b) 3 c)4 d)5
Determining the relative positions of points on above or beneath the surface of the
earth by means of direct or indirect measurements of distance and direction and
elevation is called as
a) Surveying b) Levelling ¢) Measuring d) Contouring
Plane table (PT) surveying is a method.
a) Graphical b) Linear  c) Circular d) Angular

m) Deflection angle may vary from to

(14)
1)

1)

1)
1)

@)

1)

1)
1)
1)
1)
1)

1)
1)
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a) 0°t0 90° b) 90° to 180°

c) 0° to 180°

d) 0° to 270°

n) Which branch of surveying is used to find the elevations of given points with 1)
respect to given or assumed datum?
a) Levelling b) Contouring c) Traversing d) Plane table surveying
Attempt any four questions from Q-2 to Q-8
Q-2 Attempt all questions (14)
A Following are the bearing taken in a closed compass traverse. @)
Line F.B B.B
AB S37°30'E | N37°30'W
BC S43°15'W | N44°15'E
CD N73°W S72°15'E
DE N12°45'E | S13°15'W
EA N60°E S59°W
Compute the interior angle and correct them for observational errors.
B Write a short note on the uses of contour maps for engineering purposes. @)
Q-3 Attempt all questions (14)
A Describe how a theodolite is set up at a station and a round angles is measured at @)
it?
B Calculate the area of the zero circle with the following data: @)
I.R F.R | Position of anchor point Remarks
6.520 | 2.724 | Outside the figure The zero of the counting disc
crossed the fixed index mark once
in the clockwise direction.
1.222 | 7.720 | Inside the figure The zero of the counting disc
crossed the fixed index mark twice
in the anticlockwise direction.
Q-4 Attempt all questions (14)
A Sketch the fundamental lines of a theodolite. State the direct relationship between @)
them.
B Explain the various methods of measuring a horizontal angle. @)
Q-5 Attempt all questions (14)
A Define surveying. What are the principles of surveying? Explain them briefly. (7)
B Explain with neat sketch dumpy level. @)
Q-6 Attempt all questions (14)
A The distance measured between two points on a sloping ground is 450 m. find the @)
correction to be applied and horizontal distance if:
1) The angle of slope is 10°.
2) The slopeis 1in 5.
3) The difference in elevation between the two points is 45 m.
B Sketch and describe the salient features of prismatic compass and surveyor @)
compass.
Q-7 Attempt all questions (14)
A Explain the various methods of plane table surveying. @)
B Describe the procedure of measuring a given area with the help of planimeter. @)
What is meant by “Zero circle”?
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Attempt all questions

Explain the accessories used in plane table surveying.

The following consecutive readings were taken with a level and a 4.0 m staff on a
continuously sloping ground at a common interval of 30 m:

0.780, 1.535, 1.955, 2.430, 2.985, 3.480, 1.155, 1.960, 2.365, 3.640, 0.935, 1.045,
1.630, and 2.545

The reduced level of the first point A was 180.750 m. Rule out a page of a level
field book and enter the above readings. Calculate the reduced levels of points by
the rise and fall system. Also calculate the gradient of the line joining the first and
last point.

Attempt the following questions:
(2 auallotl Yeauat Hiuol M2 ofl Aottmiell 52 Well Uojgn Bl WGl Altot B?

A) QrsARs dlstaiat ofl) R alsteixt Al) @S\ $l) Asieoe

g lol UR WBoed eUltidRd sall 2 9 %33 8, >R alncloll ¥ let Ae(olot sal
Ui A2

A) U3le Aad ofl) wfrot ool L) g As 1) A

A2 ¥Rell uUyEl dlsagal A ge ¢ s A B.

A) Aol ofl) uslds Al) wusumafl Sl) caldold wa sedl

UHLel AAAGtoll AULBos HSlclloll WEo2 UR SICUls L M2 sl 2AsEall GUADL
SAHL uA B2

W) Add et ofl) gfefl 2u l) 32 Sl) sleg?

Al aa Gell sletett Hiu 1 A Wl AssU Ulklet B,

W) AL Aot ofl) s1ll Aaa Al) @AScuse dl) 2@ u

o152l URell WBeUoll Aol@d QASA Y sall M2 ol AotHidll 5850 Guallal
scMlL Aladl oell?

A) HlogR WA ol) su l) ABoL 5l) Aad e

oA AL UL WAML UofsH@sL A3 sl 52 B.

W) QARs alstaint oll) AdauR alstaia ) RAsSleuse Sl) Asriee

wd{(stol §l5ell GUualal WAel 20iA U Al B,

A) AsA oll) Aoz A) AURAe 31) R

Al Hiual 1 auRla B

A) A ofl) Aeyu A) slog BB $1) AAU Aot

@223 @zu decll aollsc B2

A) 20l) 3:01) 481) 5

(14)
(M
(7)

(14)
1)

1)

1)

1)

1)

)

)

)

)
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k)

m)

n)

R Aol (2o U ALl e ALl ueal wyiet Hiustl Hieamell yeclloll audl
GUR wadl oA yeclloit (Hlg2oll Aol RAQA otssl scla a3
vlOalHl w1 B.

A) ddeatel ofl) el Al) Hiuet s1) slegFaL

Aot 2ol (UEl) udaat ugld ®.

A) AEsA oll) llollar ) uBRuat $l) swella

(3sAsalet sl ol oleclA A3 B

A)0°dloo°oll) 90°ell 180°A) 0° el 180° 1) 0° &l 270 °

U AUl LURAL SeHoll eelHl |AA Wozell Qe uclt HES dudeell s¢
ALl GUAaL Ul 8?

A) Aaldal o) slegBRoL Al) alallat 1) W@et sles udaial

Attempt any four questions from Q-2 to Q-8

Q-2
A
B
Q3
A
B
Q-4
A
B
Q-5
A
B

Attempt all questions
oltl 8lsRiMtell dR¥RHL Al wadl AR (1A ®.

)

€]

€]

€]

(14)
()

Line F.B B.B
AB S37°30'E N37°30'W
BC S43°15'W N44°15'E
CD N73°W S72°15'E
DE N12°45'E S13°15'W
EA N60°E S59°W

UARs vl ol 5A ual [A3letrl GA 2 Axl YRl
WopRARol il U2 Blo\R ets2lotl GUAIL UR &5l olltd vl

Attempt all questions
ol U @ASlcse 3cll A Az Ul ® el Aol UR AGeS Aoold Sl A Hiucuni

AA B Aej adlat 8.
o{lAott 32t U 9o adiell Aol QAL $RU:

IR FR Aos2 Weezoll GAQ Ruubu

6.520 2.724

L Aisstell wslR aaldile{l (3280l
9ot dldatnell Rauni AscR @R
UasUQsL Qe 2Nd( a2,

ws(Qell wslR

1.222 7.720

L AisSlell 2ieR aLAledl (32501
9ot AlRsAs Rl A cvld (B
UofsH@sL Raal A6ioll a2,

ulsld vig?

Attempt all questions

QaA8lcusesl Hoect AR BA $A. AHell A AL Aolu Ul

LS SloL Huall Hizoll [AlQu ugld Axes Al
Attempt all questions
ucleinl catvaul. ddeeell Reldl 9 8?2 gsMi Aua Auesdl.

Yus A A sl Addt AxesAl.

()

(14)
(7

()

(14)
O

v

(14)
(7

()
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Q-6

Attempt all questions
alaclloll ollol UR A Weoad A MiUallHl WAl vidR 450 Hl2R 8. @lo] sl 1R

YURERLL WA AL AR %l

1) @lnell slaL 10 ° ©.

2)3lo 1 i 5 8.

3) A (gl el AUESHL dslad 45-:22 B.

BU A Q3RS &lstaint ual Wil alstistell Yuaut cltet@sdixlle] cadlet 53A.

Attempt all questions
WQet 2oid Adetalell (QQu ugld amestal.

wHleRell Heedll AN [QreRA Hiuatsll YBaal agldl. "ol adu” ol wel 9 82

Attempt all questions
WQol eucd Udauil Gualotdl Adldl Aol dHxtcl.

Actct 30 HleRoll UHLeA B ARJA UR Udd alnclloll ool UR As Udd 2R A 4.0
Hle ety WA Aol vl sdi:

0.780, 1.535, 1.955, 2.430, 2.985, 3.480, 1.155, 1.960, 2.365, 3.640, 0.935, 1.045, 1.630, A\
2.545
yauu (olge] daldq 2R 180.750 2R od. Ade $les ojse] Y olltd 53 A GURAscl

B el 53, ASU Wl Sletoll RAH gl LelsAAL 2cdRe{l 2Ll 5. YuH ua
el (gHl Aste Bl clgstatl alnell Ul ol 52U

(14)
()

O

(14)
U]
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